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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Pointing at a portrait on the wall, Madan said,
“That lady was the mother of the daughter
of the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed
by four conclusions. Identify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the

commonly known facts.

Statements:

1. Allboyscan play

2. Some girls can sing
3. Allgirls can cook
4

No boy can sew

Conclusions:

I) Nogirl can play

II) Allgirls can sew
lll) Some cook are girls

IV) Boys who can play cannot sew

(A) Only conclusion 11 follows.

(B) Only conclusions [11 and IV follow,
(C) Only conclusions I1and 111 follow.
(D) Only conclusions 1 and IV follow.
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Study the below series and identify what

would come in the place of *7".

7.13.21,31,43,57.73,7
(A) 89
(B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

Rajan is shorter than Ramesh, who is taller
than George. Who is the shortest amongst
them?

(A) Ramesh is the tallest person
(B) George is shorter than Ramesh
(C) George istaller than Rajan

(D) Ramesh is taller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, Band C, are in
the ratio of 5 : 4 : 3. What is the age of the
eldest person?

(A) AiseldertobothBand C

(B) Theageof A is a perfect multiple of 5

(C) Bwas 5 years old when C was born

(D) Theage difference between Aand B is
the same as the age difference between
BandC
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Which of'the pieces of information given in
the options is additional ly required to answer
the following question?

Question:

All the students in a class passed the exam
and each one got a unique rank. Sushma
secured 7th rank and has 4 boys ahead of
herand 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) The number of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
{A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoes

(C) Tsunami

(D) Global warming

Find the missing term in the following series.
8,24, 48, 80, 7,168
(A) 148

(B) 112
(C) 134

D) 120
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Q10 Swdy the following pie chart showing

expenditure distribution of a certain family

and answer the question that follows

Expenditure Distribution

KMedical
L]

Entertainment
1%

If the expenditure budget of the family is
T 18,000 per month, then the monthly
expenses on entertainment, clothing and
transport combined will be.
(A) T 1,800
(B) 3,200
(C) T 5,400
(D) ¥ 2,800
Q11 Nikhil, who is Raman's son, says to Esha,
“Your mother, Ria, is the younger sister of

my father, who is the second child of Suresh.”

How is Suresh related to Esha?

(A) Father
(B) Uncle
(C) Brother
(D) Grandfather
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Given below are three statements followed
by two conclusions. Identify which
conclusion(s) definitely follow(s) from the
given statements disregarding the commonly
known facts.

Statements:

I.  Allcomputers are laptops.

Il.  Alllaptops are smartphones.
l1l. Some smartphones are tablets.

Conclusions:
I.  Some tablets are computers.
Il. Somesmartphones are computers.

(A) Onlyconclusion I follows,

(B) Only conclusion II follows.

(C) Bothconclusions | and 11 follow.
(D) Neither conclusion I nor Il follows.
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Which option follows figure C in the same
way as figure B follows figure A?

ol:[o]+ [&]: »
Al Bl icy
(A) 4
712

(B) ﬁ

b
i
=]

o
[
Y

(€) ;

8]
=
-3

(D) n

Find the odd one out of the below list of

colours.

Orange, Violet, Brown, Red, Green, Indigo,
Yellow

(A) Orange
(B) Brown
(C) Green
(D) Indigo
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Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

{A) Mean
(B) Variance
(C) Mode
(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the
information in the statements.

1.  Some boys can sing
2. Some boys can dance
3. Some boys can sing and dance

Sing Dance

Boys

LM-E

Dance
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Q17 Acube is painted yellow on all its surfaces,
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4
(B) 8
(C) 12
(DY 16

Q18 Sonam and Sheetal leave the same office and
travel towards their homes. Sonam travels
towards north for 12 km, turns right and goes
another 5 km to reach her home. Sheetal
travels towards south for 12 km, but turns
left and goes another 15 km to reach her
home. What is the shortest distance between
their homes?!

(A) 13km
(B) 17km
(C) 26km
(D) 34Kkm
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(A) 13km

(B) 17km

(C) 26km

(D) 34km
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Below is a statement followed by two

conclusions. Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given.

Statement:
The quality of teachers has deteriorated in
the government schools and parents prefer

to enrol their children in private schools.

Conclusion:

[) Theauthorities must take immediate
action to step up the quality of teachers
in schools.

1)  Allgovernment schools must be either
privatised or closed down completely.

(A) Onlyconclusion I follows.
(B) Onlyconclusion Il follows,
(C) Either conclusionIorll follows.

(D) Neither conclusion [ nor II follows.
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Choose an option that is a valid assumption
for the below statement

Statement:

Due to the concerns of pollution, the Delhi
government had completely banned the use
ol crackers in the last Diwali festival

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival,

(B) Citizens love to celebrate Diwali only

with lantems and not crackers

Children love to watch movies and play

video games instead of bursting

(C)

crackers.
(D) The bursting of crackers further
increases the smoke and hence pollution

levels inthe city

Below is a statement and two courses of

action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the stalement given.

Statement:

There has been an increase in the number of

burglary cases last year compared to previous
years.

Courses of Action:

I, The police department must step up its
vigil with more policemen on night duty.

I1, The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

(A)
(B)
(C)

Only Action | needs to be followed
Only Action [ needs to be followed
Both Actions | and 11 need 1o be
followed

Neither Action | nor Action 1l needs to
be followed

(D)
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Fumiture : Plywood :: Flooring : ?
(A) Walls

(B) Tiles

(C) Mattress

(I3) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term,

Cricket : Umpire :: Football ; 7
(A) Commander

(B) Whistle Blower

(C) Referee

(D) Arbiter

Ina certain coded language, if “WAITER is
written as ‘XQCCLQ’ and ‘ARTIST’ is
written as ‘BSTQWF’, then how would the
word ‘BEGGAR® be written in that
language?

(A) COEXID

(B) COGYID

(C) C5GCl)

(D) CQFZHF

In a certain coded language, if*SUMMER’
iswritten as ‘S2IM13E18" and *“WINTER'
is written as “W9N20E |1 8", then how would
the word "AUTUMN" be written in that
language?

(A) AZIT2INI3

(B) A20U21IM14

(C) A2IT21MI14

(D) A2IU20N13

46040096
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(A) FHI=R

(B) F@fER (Whistle Blower)
(C) Y&

(D) anfdex

v Al e W d af WAITER' &)
‘*XQCCLQ® ferar wmenm & 3fi *ARTIST’
®1 ‘BSTQWF’ feren wrem &, ot o¥ft @
Wl W BEGGAR® &Y aar feran wmoem?
(A) COEXJD

(B) CQGYID

(C) CSGCl

(D) CQFZHF

us ff¥Ed ge W # afd ‘SUMMER’
® S2IMI3EIS ferar o & afw
“WINTER' &1 *WIN20E18" forar o
B, o 99 @ W H CAUTUMNS &7 a1
feran wmom?

(A) A21T2INI3

(B) A20U21M14

(C) A2I1T2I1M14

(D) AZIU20N13
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

The ‘Writer's Building’ is the secretariat
building of which state govemnment of India?
(A) Telangana Government

(B) Karnataka Govermment

(C) West Bengal Government

(D) Gujarat Government

The city of Vijayawada in Andhra Pradesh
is located on the banks of which river?

(A) Cauvery

(B) Godavari

(C) Mahanadi

(D) Krishna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent

5654556
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Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize -

(C) WolfPrize

(D) Chem Medal

What is the official term of the office of a
Governor of a state in India?

(A) 3 years

(B) 4vyears

(C) 5years

(D) 6years

What is the colour of the Ashoka Chakra in
the Indian tricolour ( Tiranga) flag?

(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black

534§
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Which fruit was adopted in 1950 as the
*national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes

(D) Banana

India’s Accord Group and Oman's Ministry
of Oil and Gias have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) Srilanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls
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ad 1950 %, Fraferfaa & 9 5o wa &
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(A) H9

(B) 3w

(C) IR

(D) &
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(A) BT

(B) e

(C) i

(D) 7urd

Q34 Vo @ ga R weqdel der 9
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(A) a9 fEm
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(D) et 7fm
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Q35

Q36

Q37

LM-E

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the
entity.

(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(D) Reliance Home Finance

Name the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April
2019,

(A) Iran

(B) Afighanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 2019?

(A) Tamil Nadu

(B) Saurashtra

(C) Mumbai

(D) Kamataka
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=t e & (LvB), afiegag #
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87

(A) TSR 5

(B) sfeages sefim wEgw

(C) €har grsfim
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a8 @1 W 2w & o alte 20194,
WA WA T WS B e weTe
ARl qeReN, WU es @ e
fasar?

(A) &

(B) srpfRETE

(C) wgad v 3N (UAE)

(D) weifmar

Rt % 2018-19 Torh it AR St |
weadl 2019 % ArTgR A wEAd A I

freifafaa & & 5w dm & swmr?
(A) afterTTg
(B) Hrrg
(C) Ha%
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038 Who is the Director of Tata Institute of
Fundamental Rescarch (TIFR), a premier
research institute of India located in Mumbai,
as of March 20197
(A) KN Vyas
(B) Shalini Bhatt
(C) Rakesh Bhatnagar
(D) Sandip P Trivedi

i LErFIRT

Q39  The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi.
How is it referred 10 as in Maharashtra?
(A) Lawni
(B) Baisakhi
(C) GudiPadwa
(D) BhauBegj

40  Pandit Madan Mohan Malviya's grandson,
Justice Girdhar Malviya, has recently been
appointed as the Chancellor of which
famous university/institution”

(A) Sharda University

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj

University

LM-E 18

Q38

Q39

Q40

ATl 2019 @ IUFHET TR B AN
Hag A fled wra & gqE e e
TRl YA JEUE e (T1FR) &
fewe o &7

(A) ®ue, @

(B) wmferi wg

(C) Td HEATR

(D) wEu q Fad

AT e AT WENI g @ fory A
GICEEER USRI G ACIE Al R
gmie &  orer | g9 mERe 4 5w
am ¥ wefta s omar &2

(A) v

(B)

(C) T ysa

(D) W& &

ufEa wae Wes wieda & o, sl

fier wredla, @ & § e ufg

frwfagaaa /awmm & safemfa

(areer) & wu A fgaa fase 7o &

(A) e Rwfguey

(B) gw fig favafigamey

(C) waren wifeal B TEeEve
fareafgarea

(D) Bxufy g o wewe Rwafaqaea

SERIES-E-E



041

Q43

The Guru Angad Dev Veterinary and Animal
Sciences University is located in which city
of Punjah?

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

The form of farming in which nearly all of the
crops or livestock raised arc used to sustain
the farmer and his family is traditionally known
by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) QuotaFarming

(D) Institutional Farming

Which of these is NOT an edible plantation
crop?

(A) Cocoa

(B) Arecanut

(C) Rubber

(D) Tea

LM-E

e IAZEST
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Q43

6 3Te &9 uy fafeen s oy Res
fvafagarea yoe & faa wee A e
&7

(A) afeare

(B) v

(C) IR

(D) =&e

adl @1 a8 ¥y fored feam e [Fam
@ aitar & fafe & fag amm ol
WHA IS o] & 41 9YuIe By o
g 99 uruRe w9 F B am @ wen
ATer 87

(A) Whfaer Hie

(B) Mfmiee w@d

(C) ®er Tt

(D) wwrTd @l

freifafas 7 @ @9 @ @ agy I
wHe e 87

(A) @T®1

(B) gurd

(C) v

(D) @4
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In the computer terminology, what is the full
form of PDF?

{A) Primable Document Format

(B) Print Dispatched File

(C) Protocol Disk File

(D) Ponable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikarnika Ghat and Harishchandra Ghat?
(A) I.'f;.’.mpw

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

The famous Iron Pillar of Delhi, which has
withstood centuries of exposure to nature
without any rusting, is housed within which
of these historic complexes?

(A) Jama Masjid Complex

(B} Red Fort Complex

(C) Qutb Minar Complex

() Humayun's Tomb Complex

e LEHOSE
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Q44

Q46

wege yeEel #, PDF @1 qof wu @
27

(A) it Shagie wite

(B) fire fulew wga

(C) wErmTd 3w wga

(D) TRted dfayie wie

Ja udn @ few wew # sl
F=ferftaa worf ae fAes: sl ae,
nftrsftter are afv sfvds ae?

(A) BFYR

(B) arwREA

(C) wamT

(D) TSy

feeelt @1 wRvg o w1 o aRa |
fa=r o @ @ 8, ov Fefafaa 49
farr Wforerfirs oftew ot fem 27

(A) s wftore after

(B) o e afww

(C) e AR uRter

(D) BHE & Wy @1 g
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Q47 The Ukai Dam is in which state of India? It Q47
is the second largest dam of that state.
(A) Gujarat
(B) Telangana
(C) Odisha
(D) Maharashtra

35005134

Q48 ‘Bahujana-hitdya bahujana-sukhiya’ isthe ~ Q48
Sanskrit-based motto of which of these
national institutions?
(A) Doordarshan
(B) Banaras Hindu University
(C) Allindia Radio

(D) Indian Meteorological Department

Q49 Forhelping farmers discover a better pricing Q49
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?
(A) Coffee Blockchain
(B) CoffeeCloud
(C) Coilee Connect

(D) Coffee Choupal

LM-E 21

@ i W @ Frafaiea 4 @
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(A) oY
(B) A&
(C) anfeem

(D) wERTS
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i W fre T W o W
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(A) qead

By = fig fafagaea

(C) aifa gfEar YFean
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Preifvor # weg o @ forg, I a1 A
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(A) B feaa
(B) FTHI TS
(C) i B
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Q50 Name the state that has launched a

Q51

Q52

LM-E

commission called PRANAM Commission
tospecifically look into the responsibility of
elderly parents of government employees,
(A) Assam

(B) Odisha

(C) Tamil Nadu

(D) Rajasthan

Where is the head office of the Tea Board
ofIndia?

(A) Danecling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open anew Excel workbook. how
many worksheets is/are present by default
at the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven

35569134

42

Q50 fAm=faflen e wo 4 Rt wu 3 v
wHuiRat @ gg w-Rw @ e
W @F @ . PRANAM amam
AHE UH T ) gwana ) #2

Q51

Q32

(A) 3ram
(B) aifEem
(C) afterg

(D) TIow=

& a2 3T R &1 g@ wrtay
T fem &2

(A) =faffer

(B) 1% faeh

(C) ®iearar

(D) ®ifz=

U 319 UF ¢ Excel 78q® @aa & o
G & w9 f3viee v @ fvad aatdie
B &
(A) T
(B)
(C) g™
(D) =
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Q353

Q54

Q55

Photoshop is a software program that is
extensively used for image editing, graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

Q53

Q54

Q55

IETHE1 34

Photoshop T T wfweday wm @
Foreat o gt ofdfen, miftha Rngs
afw f3fvea and @ foav a8 fwe W
fasn wmen # 1 Prafafam & @ e woh
# U §9 Hieeay # a9 T aREn
8?

(A) Microsoft Corporation
(B) Apple Inc.

(C) Oracle Corporation
(D) Adobe Inc.

Edge Verve Systems fFrferfiaa fama wciia
IT @ & got wenfiea arell wemas Hul
g2

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

frafafaa # ¥ 19 W 3w I Wi
A P UM UH ey wdmoamn
e 87
(A) 9=
(B) #ure

(C) =™
(D) arERY
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Q56  Whichamong these districts of Uttar Pradesh
is completely surrounded by other districts
of Uttar Pradesh (i.e., does NOT share a
boundary with any other adjacent state or
country)?
(A) Saharanpur
(B) Deoria
(C) Hardoi
(D) Lalitpur

Q57 Veteran superstar Amitabh Bachchan hails

from which city of Uttar Pradesh?

(A) Prayagraj (Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

Q58 The famous Bankey Bihari Temple is located

in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra

Q56

Q57

058

IR wew # Ffafad 7 @ @9 oW
Rore s o @ = et @ fwr gan
& (I, el f s wow ar 2w @ A
ar s Tl Fean @) ?

(A) HERAYR

(B) @afa

(C) &K

(D) wifermge

Il guveer sifant qen SR gin
@ fFa e a &
(A) WAPRIS (gomerans)

(B) &Y
(C) o

(D) smrr

witig @i faerd) At www wew @ v
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(A) WM™

(B) armRf

(€) g

(D) 3Ry
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Q359 Which of these is the state animal of Uttar

Pradesh?

(A) Red Panda
(B) Swamp Deer
(C) Indian Bison
(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafis?

(A) Bangle making

(B) Perfumes and Scents

(C) Wood carving

(D) Carpet making

In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARI)?

(A) Agm

(B) Bareilly

(C) Lucknow

(D) Kanpur

g
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Q59 F=fafaa 4 @ 3 W o= 2w &

Q60

Q61

wwdg gy @7

(A) el 4TSt (Red Panda)

(B) wEffm (Swamp Deer)

(C) Wi et 7 (Indian Bison)
(D) SP1E) ¥ (Water Buffalo)

TN AN B FERAYY Wew Frefafim
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(A) %t @

(B) &4 3w yw

(C) a&& 9 “apre
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(C) T

(D) @R
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Q62  The state of Awadh (also called Oudh) was

Q63

Q64

ruled by Muslim rulers from 172210 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sultan

(B) Badshah

(C) Mawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agm

(B) New Delhi

(C) Awadh

(D) Warangal

The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, isabout 15 km from which of these cities?

(A) Bengalury
(B) Mangaluru
(C) Mysuru
(D) Belgaum

26
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Q63
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(B) arEeme
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Q65  Which of these organisations was founded
by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society
(B) Bharatiya Vidya Bhavan
(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word “holocaust” with which of these
countries”

(A) Germany

(B) Egypt

(C) China

(D) Mexico

During the Mughal administration, what was
the exact role of a ‘Kotwal'?

(A) Leading the army for battle

(B) Maintaining the treasury

(C) Collecting revenue

(D) Maintaining law and order

27

Q635

Q67

35445134
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Q68

Q70

The Child Marriage Restraint Act, 1929, is
popularly known by which other name?

(A) Sarda Act

(B) Vijayalakshmi Pundit Act

(C) MNaiduAct

() Nanavati Act

In which city did Swami Dayananda Saraswati
first establish the Arya Samaj in the year
18757

(A) Bombay (now Mumbai)

(B) Ahmedabad

(C) Pune

(D) Calcutia (now Kolkata)

Megasthenes, the author of the famed treatise
about India called Indica, originally belonged
to which country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey

35089134
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Q71

Qn2

Q73

LM-E

In which town of Uttar Pradesh would you
find the 14" century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country isa measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near:

(A) London

(B) Amsterdam

(C) Chicago

(D) New York

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

FELBELGE
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Q71

Q72

Q73

148 e @ wfig wRore fom sreren
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Q74 Hero Cycles is one of the largest cycle Q74 ™ wigfva g & waa a8 wsfda

manufacturers in the world. In which city did fofonst # @ ua &) 1956 A I=A
they first set up shop way back in 19567 Tsol R fha wgy 4 g g @
(A) Ludhiana, Punjab wrEr @ of?

(B) Chennai, Tamil Nadu (A) I, Yoire

(C) Sonipat, Haryana (B) w=Tg, affierrg
(D) Kolkata, West Bengal (C) wriTa, sftamn
(D) @rasm, aftes T

i LG0YSE

Q75 Inwhichcityoftheworldwouldyoufindthe Q75 FHe waray fiva & fvw wwr A

Trafalgar Square? frera &7
(A) Beijing (A) @
(B) London (B) i
(C) New York (C) =dt®
(D) Paris (D) aRw
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Q76

Q77

Q78

Q79

Q80

LM-E

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which of the following allergens causes hay
fever?

(A) Seafood

(B) Pencillin

(C) Pollen

(D) Nuts

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullaoblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

{A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chiorine

(D) Nitrogen

oGBS
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Q76

Q77
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Q79

Q80
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Q81

Q82

Q83

Q84

Q85

LM-E

Solve the following.
10-[5-(5+10)]+5
(-5+10)-(5-10)+5
(A) 1

B) 2

© 5

(D) 10

Solve the following.
0.009
— =9
09
(A) 1
®B) 1.1
(C) 0.1
D) 0.01

The sum of three consecutive odd numbers
i5 36 more than the first of these numbers.
What is the middle number?

(A) 15

B) 17

(©) 19

(D) 21

The average of ten numbers is 6. If cach Q84

number is multiplied by 12, then the average
of the new set of numbers will be:

(A) 20

(B) 28

(C) 36

(D) 72

If%=¥.ﬁmﬂwulwnhi§:
(A) 00144

B) 0.144

(C) 1.44

D) 144

yE LEDGFE
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Q81 F=fafaa & ga &)

10-[5-(5+10)]+5
(-5+10)-(5-10)+5  °
A) |

(B) 2

© 5

Dy 10

Ffafaa &1 s &)
0.009
09
A) 1
(B) L1
(C) 0.1
(D) 0.01

=7

wara a9 R deast & 9w, g5
eyl # | uweh wem @ e 7 36
wftrs B e ww w87

(A) 15

®) 17

(C) 19

D) 21

&0 weaweil o altwa 6 #) ARk e
wem @1 129 Ton B wen @ A
el @ AU ¥ @ aftwa @ g
(A) 20
(B) 28
(C) 36
(D) 72

144  14.4

af e B, o x & AF
BI?

(A) 0.0144

(B) 0.144

(C) 1.44

(D) 14.4
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Q86 The salaries of Arjun, Vikram and Vijay are

Q87

Q88

Q89

LM-E

inthe ratio 2 : 3 : 5. If increments of 15%,

10% and 20% are allowed respectively in

¢
0

their salaries, then what will be the new ratio ,

of their salaries?
(A 3:6:10

(B) 23:33:60
(C) 21:03:60
(D) 23:35:60

Express the following as a decimal.
0.001%

(A) 1|

(B) 0.001

(C) 0.0001

(D) 0.00001

A and B together can complete a piece of
work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days

(B) 13days

(C) l4days

(D) 15days

Monish can cover a certain distance in | hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A} 6km

(B) 6.5km

(C) 8km

(D) 10km
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Q86 -Hﬁj?.ﬁﬁqaﬂ?ﬁﬂﬁﬁﬂﬁlﬁ:ﬁiﬁ
Fqoa A 81 2t S 99 A www
15%, 10% 3fR 20% @ Ja9 gfg &
yf € G 8, & 9@ AU daa @
WS @ B

(A) 3:6:10

(BY 23:33:60
(C) 21:03:60
(D) 23:35:60

Ffaitaa &1 semoa 5 @ &)
0.,001%

(A) 1

(B) 0.001

(C) 0.0001

(D) 0.00001

A 3 B fraaw fodt am &1 6 faat i
YU @Y Wad © ) e A srbar 9w @
B 10 129 ¥ gur & e 8, a1 B sibel
I ® @ o GF 7 g e aw
27

(A) 12f8=

(B) 1317

(C) 14f&m

(D) 15/

Aife & Fftea gff & S-faed wm
#1 4 km/h 3R 919 90T BT S kmvh 3 TR
W | "2 24 e o aa o weo # | B
qdl g 9 |

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km
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Q90 A man, a woman and a boy can complete a

Q91

Q92

Q93

Jjob in 2, 3 and 6 days respectively. How
many boys must assist | man and | woman
to complete the job in half a day?

(A) 5

(B) 6

(C) 7

(D) 10

The radii of two right circular cylinders A and
Bareintheratio 5 : 2 and their heights are in
the ratio 7 : 5. What is the ratio of the curved
surface arcas of Aand B?

(A) 2:7

B) 7:2

(C) 2:5

(D) §:2

Iftoday is Saturday, after 71 days, it will be:
(A) Monday

(B) Friday

(C) Saturday

(D) Sunday

Ina AABC,AB=6cmand AD isthe angle
bisectorof £ A.IFBD:DC=13:2, then
AC will be equal to:

(A) lecm

(B) 1.5cm

(C) 2em

(D) 4em

LM-E
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Q50

Q91

Q92

Q93

U@ Al U 3w R v dee A
o o FAN: 2,3 3R 6 R A g w
"o 2| dM B AW RA A e &
fog 1 s afr | Aften & v &
fou e w=a1 & e aifte?

(A) 3
(B) 6
(€} 7
(D) 10

1 7 g & (right circular cylinders)
AR B3 B 5: 2@ aqum # afi
TD! Surgdl 7: 53 U # §) AR
B® a® b ] & SAWA! (curved surface
areas) F1 IR §IA Y|

(A) 2:7

B) 7:2

(C) 2:5

(D) 5:2

afe arw ufar &, o 71 = @ ag, @
2rr?

(A) HrER

(B) IHAR

(C) ofar

(D) YRar

AABCH AB=6cm 3R A W
wHfgaTaa (angle bisector) AD & | Tf
BD:DC=3:28 @ AC & 57+ &
BrT?

(A) lem

(B) 1.5¢cm

(C) 2em

(D} 4em
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Q94

Q95

Q96

LM-E

If ¥ +L, =23, and x > 0, then the value
=

|
of x+—is:
X

(A) 1
(B) 2
(C) 5
(D) 6

Solve the following.
(cos’@—-INcot’ @+ 1)+1=7
Ay =1

(By 0

€)1

(D) 2

If“t” is the standard deviation ofa, band ¢,
then the standard deviationofa+6,b+6
and ¢ + 6 will be;

(A) t

(B) t+6

(C) a+b+c¢

(D) 6t

If @and fare the roots of
ax’ + bx + ¢ =0, then one of the quadratic

equations whose roots are % and ﬁ will
be:

(A) a +bx+ec=0

(B) bx+ax+c=0
(C)ex*+ax+b=0

D) e +bx+a=0

35

Q54

Q95

%Q96

Q97

L
afe .r'-+F=23 gt x>08, ot

!
X+— 7 T B
X

(A) 1
(B) 2
(€ 5
D) 6

Frafafan & sa 59
(cos’ @=1)cot’ @+1)+1="7
(A) -1

(B) 0

(€) 1

(D) 2

g a, b3lR c T 7= famas v & @
a+6,b+63MN c+6F Aw frae
a7 Y

(A) t

(B) t+6

(C) atb+c

(D) 6t

e ax’ +bx+c= 0 Y a M g
& o gfam wieit § @ @ R

1
g@ai M 7 &, Pt 4 4
w1 B
(A) a’ + bx+¢=0
B) b +ax+ec=0

C) ex+ax+b=0
D) e +bx+a=0
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Q98

099

Q100

Q101

LM-E

Let @ be a prime and b be a composite
number such that a + b = 240.Also. the
LCM of g and b is 4199, Then a and b
respectively are:

(A) 23,217

(B) 17,233

(C) 19,221

(D) 13,227

Out of the following numbers, a terminating
decimal is:

(A)

(B)

S [ S

(€)

(D)

Wk )| —-

TapA can fill atank in | 8 minutes, B in 36
minutes and C in 54 minutes. Tap A was
opened; | minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to
fill the tank was:

(A) 9

(B) 11

(C) 6

(D) 8

The ratio of present ages of Reemu and Alka
15 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10

(B) 8:5

(C) 7:5

D) 9:5

JATTAB06
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Q98 WA & aU® apiroa e & 3R hUs

WM A ESH OB D a+b=2403
A B | §H9D AW o MR b & AT
TAEAE 4199 &1 o1 o 3R b H FHA
I I B
(A) 23,217
(B) 17,233
(€) 19,221
(D) 13,227

frafafaa demat 4 9 wo Twag
A w1 22

(A)

(B)

o | el | e

(©)

(D)

W R =

Q100 77 A feh 2@ &1 18 fFre o W

2 BEH 36 fme ¥ alw C, 54 fme 9w
HH & | A A @ T4 9us | e
are, -id B @ien T M 9EaE 4 e
aiE, 79 C @ 141 | € & WA B
foe smavas wwa (Frere #) fasoen @
(A) 9
B 1
(C) 6
(D) 8

Q101 37 3R e & aefaE Ay &1 I

3:22) 20 @ g, Preiferfare 4 @ @
|1 S WY B AU A B b
g7

(A) 17:10

(B) B:5
(€) 7:5
(D) 9:5
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Q102 Ram is twice as good a workman as Rahim

: 3 .
Q103 If sina -cosa =;, then sin@cosda is

Ram takes 6 days to complete the work,
Rahim will complete the same work in:

(A) 6

(B) 3

©) 12

(D) 9

equal to:

) 5%
() e

(€)

9

®) 7

Q104 When the number & is increased by 20% and

Q105

then reduced by 20, we get 160. If the
number ¢ is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

|
(D) 333 %

LM-E

DGRy gt
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Q102 YW 91 Frdemen W 9 Hrde 9@

GETAl & | wm farl wr @ 6 R A g
e & | W 9l @l @ et fae
YR B

(A) 6

(B) 3

(C) 12

(o) 9

; 3 :
af? sina -cosa —;'-E‘.”, o sinacosa

& WF FT B
8
25
16
25
9
25
9

(A)
(B)
(€)

) T6

W4 U T a i 20% gafg el @ AR
fse @& 20 @ & @l &, o & 160
e gen 81 4l wemad 20% &9
e 2 afv 20 9 gf &< &, o & @
Wt e

(A) 144

(B) 140

(C) 152

(D) 148

Q105 5 m 9sl 4o+ & L, Afota am 9u

TS D 2m D HY P9 S U S B
sftfa am wfrea sma &¥)

(A) 40%

(B) 30%

(C) 45%

|
(D) 33 3 Yo
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106 What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva
(B) Hind
(C) Sagarika
(D) Bharati

Q107 Which ofthe following institutes was the first
to be established as |1 T (Indian Institute of
Technology)?

(A) NIIT Kanpur
(B) 1T Bombay
(C) [T Kharagpur
(D) 1T Madras

(108 How many vearsoforbiting Mars planet were
completed in September 2018 by the Mars
Orbiter Mission launched by ISRO?

(A) 4years
(B) 5 years
(C) 6years
(D) 7years

Q109 Inthe water cycle, clouds are formed by the
process of:
(A) evaporation
(B) condensation
(C) decomposition
(D) melting

OBEY L LG

Q110 Which of the following is a sign of deficiency
of vitamin C?
(A) Bleedinggums
(B) Protruding belly
(C) Nightblindness
(D) Stomach ache

LM-E 38

Q106 a¥ 2015 #, wver gy cTafedn # wnfier
I U AW T4 87
(A) €3
B) =
(C) =i
(D) et

Q107 fr=fafia # | e dwe= &1 g 1T
(areia WA T & w8 wnfie
forar T ar?

(A) NIT &Y
B) NT &=

(C) IIT WYY
(D) T wET

Q108 gH¥ (ISRO) Tam waifda wrd siffdes
e & w9 Ridar 20189 5ima UE
@1 aftwen fases ast | o & nd?
(A) 4ad
B) Sad
(C) 674
(D) 7o

Q109 & °% #, e & Toq F=faftm #
4 5w wfbm gam gar 87
(A) amsftaor
(B) wE
(C) 3veeH
(D) 7w

Q110 Fr=fafea 4 & 19 @ fefs c
HA 1 e B
(A) wegel & g Fee
(B) YT @E¥ AN
(C) wfrh
(D) e ¥ gd
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Q111 Whoamong the following are at higher risk Q11 F=fafa 4 | s oifar 9 &

for anaemia”? o afaew g 87
(A) Old persons (A) J& @i

(B) Children (B) w=

(C) Pregnant women (C) miad wfeand
(D) Animals (D) ST TEN

Q112 Which of the following animals can spread Q112 Frafafan % & @9 W aFa Y

rabies? el o &7
(A) Lizand (A) fouset
(B) Squirrel B) fraed
(C) Pigeon (C) TR
(D) Dog (D) e
Q113 Whichofthe followingare an exampleof Q113 F=ifaftym 4 &/ &9 w1 wo® W wd
surface water resource? HAWE & UF ISEY 87
(A) Lakes (A) ¥ir|
(B) Wells (B) &an
(C) Oceans (C) ww
(D) Tankers (D) d&v

Q114 Which of these is an inner planet or a Q114 F=fafaa 4 4 #9 w e W dea

terrestrial planet in our solar system? &1 Us Hfafts T ar il ue 87
(A) Satumn (A) oify
(B) Jupiter (B) gEwufy
(C) Mars (C) w7Te
(D) Uranus (D) 369 UE

Q115 Fuse protects an electric circuit from: ; Q115 w9, & Rgyq wRuy (safigs wf¥e)
(A) overloading 3 o1 wyean FPrafafiaa # & fsws o &2
(B) converting one form ofenergy into (A) aiftrimor (anawafEn)

other (B) &l & s w9 B gy # uRads

(C) carrying current (C) a1 yftas'™”
(D) inducing current (D) €RT IR
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presence of current in a circuit?
(A) Ammeter

(B) Volumeter

(C) Rheostat

(D) Galvanometer

Q117 The three basic units of an electronic
communication system are:
{A) transmitter, transmission channel and
receiver
(B) modulator, demodulator and repeater
(C) transmitter, noise and information
(D) transmitter, signal and modulator

Q116 Which instrument is used to detect the
Q118 The lowest temperature at which a substance
catches fire is called its:
| (A) melting temperature
| (B) ignition temperature
(C) boiling temperature

(D) freezing temperature

Q119 Chemicals are added to food for:
{(A) degradation
(B) decomposition
(C) preservation
(D) recycling

Q120 Which of the following statements is TRUE
about synthetic detergents?
(A) They work with both soft and hard
wiler.
(B) They do not work with hard water.
(C) They work only with hard water.
(D) They only work with soft water.

LM-E 40

0116

Q7

Q118

wfne 3 fagya @ gulefe & war &
& fou Fr=ifafa 9§ @ feg gusw &
Iggm fsa amn &7

(A) UfER

(B) diceHier

(C) Rade

(D) freaies

geigniie HaR el @ gfRad
ol B o &7

(A) giier, g o9 aiv Refae
(B) wiggeiey, ferifggeey ot Rdiew
(C) graler, Higw s g=whites

(D) giaer, fama sl sfggaex

"ad @ awF o w & gend am
USHsal &, 99 J91 HET A &7

(A) TTEAATH TAIHIA

(B) Wadd= TS

(C) FI& TraH=

(D) fewia am=

Q119 o= 3 wg= fw otya 9 R e

&7

(A) Frefiav (Basem)
(B) 3u"ed

(C) weE

(D) Yvrada

Q120 wf¥ae srrtd (s feedle) @ an

i Fr=ferfaa & @ @19 wr T ud &7

(A) T8 9§ 3R #eR T@ SH @ W
®wm B £

(B) U8 WoN I W &M A8 ovd §)

(C) U8 @ad ®oR Od 3 oM & 8|

(D) @& @ac ¥g§ o H &M aw §)
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Q121

Q122

Q123

Use of chemicals for therapeutic effect is
called:

(A) chemistry

(B) chemotherapy

(C) physiotherapy

(D) chromatography

Which of the following diseases is caused by
the deficiency of vitamin D?

{A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

What is the percentage of fat and sugar
recommended in the diet of a growing child?
(A) 7%
(B) 25%
(C) 15%
(D) 30%

(2124 Based on the United States Department of

Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 102,200 calories

(B) 1,000 to 2,000 calories

(C) 1,000t 1,400 calories

(D) 1,600 102,400 calories

Q125 Hypocobalaminaemia is caused by the

deficiency of which of the following vitamins?
(A) VitaminB12

(B) Vitamin A

(C) VitaminC

(D) Vitamin K

LM-E

Sl FREH T

4l

Ql2]

Q122

Q123

Q124

Q125

fafeia wim & forg varg=t & gugm
vl @1 Fefofaa 4 | e am ) o
G 27

(A) v e

(B) @R

(C) fsforamed

(D) WIEE

fefm D& &0 & FrRu Pt §
@ A e &7

(A) Raew

(B) w4l

(C) virEh

(D) U&mn

a0 7= & fory amer 4 aw ol R @
frern wierea aruifea R ar &7
(A) 7%

(B) 25%

()
(D) 30%

15%

wigeer Iy amfYe @ S farT (USDA)
& femfade @ s w30 ad @ afw
| IH a1 WFAG GEu1 3 AfkeRi @
ARy & S @ wwor P B
arfeg?

(A) 1,600 92,200 Far8

(B) 1,000 9 2,000 Ham

(C) 1,000 9 1,400 HeArd

(D) 1,600 ¥ 2,400 derd

ErgmErE i (Hypocobalaminaemia)
fr=iforfaa 4 @ fow Refim f &0 @
IR Brem &7

(A) fef@=BI2

(B) faefmA

(C) faefmiC

(D) Rk
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Q126

Q127

QI28

Q129

Q130

LM-E

SECTION-4| GENERAL HINDI | 25 QUESTIONS

W W w5 ower v @
g &1 - oftm e @ Rem wm
"R |

(A) AT

(B) &4

(€) foawm

(D) 1o

@ T qu e a8 81 - arew |
Higaes e @ W 82

(A) 99

(B) f&=m

(€) T
(D) TV

frm v @ ael g #7
(A) =

(B) watw

(C) wafdih

(D) Fw™m

M @ BT | — e @ & agme
#7

(A) Wi aeha

(B) wfemym

(C) wfem wiw

(D) wmrg Wi

frefofaa & & &9 @ Wy @
eI 87

(A) 1 g 9|

(B) T&TH U Wl

(C) 3™ WA @R 8

(D) 49 & wer el S |

Q131

0132

VSBB05T2

0133

Q134

Frfefaa # ga awa o W 82

(A) & suE T AT §

(B) %9 @@ & @g+ H el @ g
q Enm |

(C) & I9=il ¥ & W & fov
R g

(D) ¥ vom T 3k 2w A ardh &)

w1 2, e fe, we o anfe
TR~ & 449 fFe fm-faes @
vy fasar smen?

(A) .

(B) -

) -

D) ;

41 RY geay v 953 aed & 9 4
H Ud e 7o 8, 99 g |

(A) 3 8RY wer BT = wrEdd g
(B) 3 7 I e =T A FE
ar /N A A S

e S = faafem 7 g
HTHA G 9T =70 & HHe
q&l

(©)
(D)

A &1 e AW AgATgE — AR
&1 wf aef o+ |

(A) 7O & FHY A B

B) T @& fAvg ™ B
(C) ™ &F

(D) W@l % o vy o wfdm
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Q135

Ql36

Q137

Q138

LM-E

TR S YO @ B g w)
T8l 87

(A) T — vwafa 7

(B) THaad — Mmad

(C) ol — g

(D) wg= — feEnaen

‘wgan o R R AR i fead)
=T 27

(A) s qvf R

(B) wwew oAl el

(C) wrdg sfves

(D) IgE AR

ai 2016 &1 Wkw FFEA R
e vaTeRr @ Rar Tar?

(A) ggar

(B) vHwrdw wWiE

(C) wriEvw Ay

(D) fewT

e B e R s ol Saamrd
BT | 98 YNy wfdus & {5 arade
# foran man @7

(A) 343

(B) 344

(C) 345

(D) 347

o e 7

43

Q139

Frefefaa o & @ s uwEy
(wem wear 139- 140) & I ¢

e & weET § gesTedt @
W 3l WEwqYl & | §9% qanT wifec
@ ofigs @) v, gfie o aifigf e
B YwIEEa W @ gfE @
HAA-FANT TaE £ g9 @ 4@ W
LG RICRIRG IR LR I GIGRIRC
T ? | (e ARa @ o o wd
e T & | forfty @ anfeer @ s @
o e gt &1 waE e @ &)
vEd daray, fagaey v uea &
HUE @ WA W B 4| 3 afafte
fagawarl @& v ol qeasem f
BRI & | YRV B AP § 9 !
BT U HAT AT P TRE Al a1
7 0 | s amRY el @ gy
# forer wufee @l 8. Soeh g R
- (& gwE & A
ST el o | W @ qRETEd HER
W W A |t w8 vEd 9 | arfieere
/A el wEEl @ W ae af Rafy
=81 | 919, R it gy R 20t |
gs-o-gs Rgargerft &@ arnt v
HINT AT & o |

Swfa Tgin o sfua e @ B
waan 87

(A) W FTd & JRBEd

(B) qwmIera @1 3foEme

(C) JErP! T HIE

(D) gy 3R WRA
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Q140 Tgai # Y@ifd stw @ Sfaa amen

Ql4]

Q142

a1 Ef?
(A) Wiz & o= & vad afs
wEEl WeE qREey 2|
(B) gwI@Ted ANa N wfHlE & s
T8 & | §1 qRTadl & SR,
wa vt ggy fee 39 |
ge—a-ge Rgurwrh &4 g
T ARG A FA A | A HNa B
afa—ivag &1 SR &)
HING & JWRIBCd HHN 9R H 3
| A8l R 9
qevidhen & nfesr | qd g
& TIE HE AADA & e
TS 41 A o | AR A HER 3
Q| & WUB ® Heca |

(©)

(D)

wift & I=if &1 waw AF AEeg
A a4 87

(A) =ETag

(B) Jurcid

(C) Tsred

(D) Hevied

frafafa # @ fwa sifa Pl
gftdl @ Wph aur veafy afk #
gaag & wrch &

(A) 9=

(B) uRw=

(C) W= fsfa

(D) wrEia gy

ol R T

Q143

Ql44

Q145

Ql46

Freferfara & @ sy wwed
T W NS AR Tarel 3 i
war) fram, smen, e i
Frgfeadl @ w@ & 9w 4 8 87
(A) ®afag andw

(B) e

(C) s

(D) ufuz

Prerfarfaa # R 2 w1 W W A
£

A) T

(B) ¢

© &

D) 3

fFr=fafla § @ @9 @ a0 <@ 51fl
a7

(A) @

B) =

(C) @

D) 4

wHarr # e suwt & s gan &7
(A) 9

(B) ¥
(C) ¥

® ¥
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Q147

Q148

Q149

Q150

LM-E

Fr=ferfiaa o @ fvw e ¥ afge vy E
P warT g 87
(A) =fés

(B) M=n
(C) weg
(D) e

FE O e oo Ty 87
(A) Tred
(B) YT

(C) wmg
(D) foes

@Y @ Ted E9 a1 s
(A) T
(B) 3R
(C) aen
(D) af

e foar g0 g @ fog svg@@ @
e T B

(A) &

(B) Twid

(C) =wfe

(D) =

45
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ROUGH WORK
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w

/v FR & fow
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Read the following Instructions carefully :

Frafafaa FEal ») a= ) g2 -

1. Out of the four altematives for each guestion, only
ane ¢ircle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

2. The cundidates should ensure that the Answer Sheet

is not folded. Do not make any struy marks on the
Answer Sheet. Do not write vour Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
#s under no circumstances (except for discrepancy in
Test Bookiet ), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Allendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card 10 the Invigilator

6. Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty. Cases where n candidate has not
signed on the Atlendance Sheet will be deemed nol 1o
have handed over the Answer Sheet and dealt with as
an unfair means cose.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidaties are governed by all Rules and
Regulutions of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall,

answer sheel

11. Candidates are not allowed to take Test Booklet with
them, They have to submit the Test Booklet to the
lovigilator after the exam.

Candidate is only allowed to take Candidale’s copy ol

I WlE uvE @ fog By 74 9w fAeei 4 4

S I e R O R R A 1 O R

Had Ud M B A O e w1 @ dige

U1 | Wi | UP IR IR difha v o @

41 I qqe] T8 o W 8|

g} yFfaT @Y @) I vaw ® Ae

4 AN Ud 9H W S 3= [ 7 T

qeTel MU IS IR 9Ee A Faifa

W & afafeT srua 9 fosd

3, 9fen @ vd 9T UEE & ergdd
warT &, #ife B 0 oRfufa 4 @aa
qET gier 3 9 @ BIE &) T ahe
qi®l (d 9TR UA$ SUoEl TR S
AT |

4. v gferr # R ofan it S8
&1 el w8 ofe A SuRefy = 3
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